N3MEeHUTb 3/1EMEHTbLI MACCUBA YETHbIE MOJIOKNTESIbHbIE

YMEHbLUNTb B 2 pa3a, HeYETHbIE M0JI0XKUTEJIbHbIE
yBEJ/INYUTb HA 2, a@ OCTasIbHbIM TOMEHSITb 3HAaK.
[4ETHbIE > 0 ! 2 HeUéTHbIE >0 2 ocTasibHble*(-1)]

#include <iostream>

#include <cstdio>

using namespace std;

void printmass(int sssr{], int razmer)

{
inti;
for (i=0; i<razmer ;i++)
{
printf("%d ",sssrfi]);
printf("\n");
void fillmassrandom(int sssr[], int razmer)
{
inti,znak;
for (i=0; i<razmer ;i++)
{
znak=rand()%2;
if (znak==0)
{
sssrli]=rand()%10;
else
{
sssfi]=(-1)*rand()%10;
}
}

void fillmass(int sssr{], int razmer)

inti;
for (i=0; i<razmer ;i++)

¢ if (sssr{i]%2==0 && sssr[i]>0)
sssrfi]=sssr[i]/2;
else if (sssrli]%2!=0 && sssri]>0 )
sssrfil+=2;
else

sssril*=(-1);

}

int main()

{

int ms[15];
fillmassrandom(ms, 15);
printmass(ms, 15);
fillmass(ms, 15);
printmass(ms, 15);

#include <iostream>
#include <cstdio>
#include <ctime>
using namespace std;
void printmass(int sssr{], int razmer)
{

inti;

for (i=0; i<razmer ji++)

{

printf(*%d " ssst[i]);

}

printf("\n");
void fillmassrandom(int sssr(], int razmer)

intiznak;
for (i=0; i<razmer ;i++)

znak=rand()%2:
if (znak==0)

{
sssrlil=rand()%10;
else
sssrlil=(-1)"rand()%10;
}
}
void fillmass(int sssrl, int razmer)
{

inti;
for (i=0; i<razmer ;i++)

if (sssri]%2==0 && sssri]>0)

sssrfij=sssriJ/2;
continue;

}
if (sssri]%2!=0 && sssri}>0 )
{

sssifi[+=2;
continue;

}
if (1(sssr1%2==0 && sssr[i>0 || sssr(i|%2!1=0 && sssr(i]>0 ))

ssstil'=(-1);

}
}
int main()

srand(time(NULL)):
int ms[15];
filmassrandom(ms, 15);
printmass(ms, 15);
filmass(ms, 15);
printmass(ms, 15);

}

#include <iostream>

#include <cstdio>

#include <ctime>

using namespace std;

void printmass(int sssr{], int razmer)

{
inti;
for (i=0; i<razmer ;i++)
printf("%d ",sssrfi]);
}
printf("\n");
void fillmassrandom(int sssrf], int razmer)
int i,znak;
for (i=0; i<razmer ;i++)
{
znak=rand()%2;
if (znak==0)
{
sssri]=rand()%10;
else
{
sssr{i]=(-1)*rand()%10;
}

void fillmass(int sssr(], int razmer)

inti,flag;
for (i=0; i<razmer ;i++)
{
flag=
if (flag==0 && sssr(i]%2==0 && sssr[i]>0)

{
sssri]=sssr[i]/2;
flag=1;

}
if (flag==0 && sssri]%2!=0 && sssrfi]>0 )
{

sssr{i]+=2;
flag=1;

}
if (!(sssr[i]%2==0 && sssr[i]>0 || sssr{i]%2!=0 && sssrfi]>0 ))

sssrfi]*=(-1);

}

}

int main()

{
srand(time(NULL));
int ms[15];
fillmassrandom(ms, 15);
printmass(ms,15);
fillmass(ms, 15);
printmass(ms,15);

CONTINUE >




